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E5 HH AL 1A21H 2H5H 3H4H
K1 Al Bk B 4y 9:25 9:25 9:15
K2 | A2 BKALE Ry Ry il
K3 | A3 PR = £ 5]
K4 Ad ITA m 51.00 50. 38 50. 32
K5 | A5 ik n’/sec 7.78 6. 38 5.97
K6 | A6 2K m 1.22 0. 53 0. 44
K7 | A7 B K IE m 0.24 0.11 0.09
K8 A8 KR C -0.8 -0.9 —4.4
K9 A9 KR C 0.2 0.2 0.2
K10 | A10 4B (1) mEEY | REEY  REEH
K11 | All A8 (2) JIE JIE JIE
K12 | Al12 SMEL(3) — — —
K13 | A13 SMEL(4) — — —
K14 | Al4 B () piig b b
K15 | Al5 FHHRE cm >100.0 >100. 0 79. 4
K17 | A17 T e 4 — — —
K18 | AI8 TR B 4y — - —
K21 | B1 pH 7.7 7.9 7.8
K22 | B2 BOD mg/1 <0.5 <0.5 <0.5
K24 = B4 sS mg/1 2 2 14
K25 = B5 DO mg/1 14 14 14
k33 = B13 NI f#/100m1 4 13 1
K29 | B9 HREHR mg/1 0. 25 0.22 0.23
K30 | B10 wmy v mg/1 0.003 0.003 0.013
K41 | C1 I RITA mg/1 — — —
K42 | C2 BT mg/1 — — —
K43 | C3 & mg/1 — — —
K44 | C4 6ffi 7 1 L mg/1 — — —
K45 = C5 == mg/1 — — —
K46 | C6 FRIKER mg/1 — — —
K47 | C7 7 VR L IKER mg/1 — — —
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K48 | C8 PCB mg/1 — — —
K49 = C9 runALy mg/1 — — —
K50 | C10 Mg b R R mg/1 — — —
K51 | C11 | 1L,2-YZunonxzgy mg/1 — — —
K52 | C12 | 1,1-¥ZmrxFLr | mg/l — — —
K53 | CI3 |+ z-1,2-YZ/muxFL o mg/1 — — —
K54 | Cl4 |1,1,1-hYZmpoxH mg/1 — — —
K55 | C15 |1,1,2-hVUZmpmxX mg/1 — — —
K56 | C16 | hUZsmpozFlLyv mg/1 — — —
K57 | C17 | 7 h77vux=FL v mg/1 — — —
K58 | CI8 |1,3-YZ7mwuru~r(D-D) mg/1 — — —
K59 | C19 FUT L mg/1 — — —
K60 | €20 2= (CAT) mg/1 — — —
K61 | C21 |Fa~rnn7(=vFin—7) mg/l — — —
K62 | €22 NPy mg/1 — — —
K63 | €23 Ly mg/1 — — —
K64 | C24 | mimsnessfk OMREER%  mg/l 0.21 — —
K65 | C25 5o mg/1 — — —
K66 | (26 EES mg/1 — — —
K134| D4 ki) mg/1 — — —
K161 E1 TLEoy AEEFE mg/1 — — —
K162| E2 TAHEAREZE R mg/1 <0. 005 — —
K163| E3 [ mg/1 0.21 — —
K171| El1 AN U UEEREY v mg/1 <0. 003 <0. 003 <0. 003
K185| E25 VA== Y7 uneg/l 0. 20 1.2 3.3
K189 | E29 | 7xA74F o (7 =A(aH) uneg/l — — —
K242 G2 B = 1 <1 7
K388| 1331 J)=NT =)= mg/1 — — —
K519 | J69 1, 4-oF %% mg/1 — — —
K1326 X26 LAS mg/1 — — —




